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LXX
BC = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CD = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DC = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
ED = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXo
BC = ∫

o

b(5/2 x/b ) Fb2 1/EJ dx = [5/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (5/4 b ) Fb2 1/EJ  = 5/4  Fb3/EJ

LXo
CB = ∫

o

b(5/2 -5/2 x/b ) Fb2 1/EJ dx = [5/2 x -5/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (5/2 b -5/4 b ) Fb2 1/EJ  = 5/4  Fb3/EJ

LXo
CD = ∫

o

b(3/2 ) Fb2 1/EJ dx = [3/2 x ]
o

b
 Fb2 1/EJ 

        = (3/2 b ) Fb2 1/EJ  = 3/2  Fb3/EJ

LXo
DC = ∫

o

b(3/2 ) Fb2 1/EJ dx = [3/2 x ]
o

b
 Fb2 1/EJ 

        = (3/2 b ) Fb2 1/EJ  = 3/2  Fb3/EJ

LXo
DE = ∫

o

b(3/2 -3/2 x/b ) Fb2 1/EJ dx = [3/2 x -3/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (3/2 b -3/4 b ) Fb2 1/EJ  = 3/4  Fb3/EJ

LXo
ED = ∫

o

b(3/2 x/b ) Fb2 1/EJ dx = [3/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (3/4 b ) Fb2 1/EJ  = 3/4  Fb3/EJ
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LXX
BC = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CD = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DC = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
ED = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXo
BC = ∫

o

b(2 x/b ) Fb2 1/EJ dx = [ x2/b ]
o

b
 Fb2 1/EJ 

        = ( b ) Fb2 1/EJ  =   Fb3/EJ

LXo
CB = ∫

o

b(2 -2 x/b ) Fb2 1/EJ dx = [2 x - x2/b ]
o

b
 Fb2 1/EJ 

        = (2 b - b ) Fb2 1/EJ  =   Fb3/EJ

LXo
CD = ∫

o

b(1 ) Fb2 1/EJ dx = [ x ]
o

b
 Fb2 1/EJ 

        = ( b ) Fb2 1/EJ  =   Fb3/EJ

LXo
DC = ∫

o

b(1 ) Fb2 1/EJ dx = [ x ]
o

b
 Fb2 1/EJ 

        = ( b ) Fb2 1/EJ  =   Fb3/EJ

LXo
DE = ∫

o

b(1 - x/b ) Fb2 1/EJ dx = [ x -1/2 x2/b ]
o

b
 Fb2 1/EJ 

        = ( b -1/2 b ) Fb2 1/EJ  = 1/2  Fb3/EJ

LXo
ED = ∫

o

b( x/b ) Fb2 1/EJ dx = [1/2 x2/b ]
o

b
 Fb2 1/EJ 

        = (1/2 b ) Fb2 1/EJ  = 1/2  Fb3/EJ
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(5/2 x/b -3/2 x2/b2 ) Fb 1/EJ dx = [5/4 x2/b -1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (5/4 b -1/2 b ) Fb 1/EJ  = 3/4  Fb2/EJ

LXo
CB = ∫

o

b(1 +1/2 x/b -3/2 x2/b2 ) Fb 1/EJ dx = [ x +1/4 x2/b -1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b +1/4 b -1/2 b ) Fb 1/EJ  = 3/4  Fb2/EJ

LXo
CD = ∫

o

b(- x/b +1/2 x2/b2 ) Fb 1/EJ dx = [-1/2 x2/b +1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +1/6 b ) Fb 1/EJ  = -1/3  Fb2/EJ

LXo
DC = ∫

o

b(-1/2 +1/2 x2/b2 ) Fb 1/EJ dx = [-1/2 x +1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +1/6 b ) Fb 1/EJ  = -1/3  Fb2/EJ

LXo
DE = ∫

o

b(-1/2 +2 x/b -3/2 x2/b2 ) Fb 1/EJ dx = [-1/2 x + x2/b -1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b + b -1/2 b ) Fb 1/EJ  = 0

LXo
ED = ∫

o

b( x/b -3/2 x2/b2 ) Fb 1/EJ dx = [1/2 x2/b -1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/2 b ) Fb 1/EJ  = 0
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(3 x/b -2 x2/b2 ) Fb 1/EJ dx = [3/2 x2/b -2/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = (3/2 b -2/3 b ) Fb 1/EJ  = 5/6  Fb2/EJ

LXo
CB = ∫

o

b(1 + x/b -2 x2/b2 ) Fb 1/EJ dx = [ x +1/2 x2/b -2/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b +1/2 b -2/3 b ) Fb 1/EJ  = 5/6  Fb2/EJ

LXo
CD = ∫

o

b(- x/b +1/2 x2/b2 ) Fb 1/EJ dx + 1   (-1)  1  Fb2/EJ

        = [-1/2 x2/b +1/6 x3/b2 ]
o

b
 Fb 1/EJ  + 1   (-1)  1  Fb2/EJ

        = (-1/2 b +1/6 b ) Fb 1/EJ  + 1   (-1)  1  Fb2/EJ = -4/3  Fb2/EJ

LXo
DC = ∫

o

b(-1/2 +1/2 x2/b2 ) Fb 1/EJ dx + 1   (-1)  1  Fb2/EJ

        = [-1/2 x +1/6 x3/b2 ]
o

b
 Fb 1/EJ  + 1   (-1)  1  Fb2/EJ

        = (-1/2 b +1/6 b ) Fb 1/EJ  + 1   (-1)  1  Fb2/EJ = -4/3  Fb2/EJ

LXo
DE = ∫

o

b(-1/2 +5/2 x/b -2 x2/b2 ) Fb 1/EJ dx = [-1/2 x +5/4 x2/b -2/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +5/4 b -2/3 b ) Fb 1/EJ  = 1/12  Fb2/EJ

LXo
ED = ∫

o

b(3/2 x/b -2 x2/b2 ) Fb 1/EJ dx = [3/4 x2/b -2/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = (3/4 b -2/3 b ) Fb 1/EJ  = 1/12  Fb2/EJ
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Quadro contributi PLV per iperstatica X=WCD

→ Mx(x) Mo(x) MxMo MxMx ∫MxMo/EJdx ∫XMxMx/EJdx

AB b 0 -3Fx 0 0
0 0

BA b 0 3Fb-3Fx 0 0

BC b -x/b -3Fb+2Fx 3Fx-2Fx2/b x2/b2

5/6Fb2/EJ 1/3Xb/EJ
CB b 1-x/b Fb+2Fx Fb+Fx-2Fx2/b 1-2x/b+x2/b2

CD b -1 Fx-1/2qx2 -Fx+1/2Fx2/b 1
-1/3Fb2/EJ Xb/EJ

DC b 1 -1/2Fb+1/2qx2 -1/2Fb+1/2Fx2/b 1

DE b -1+x/b 1/2Fb-2Fx+1/2qx2 -1/2Fb+5/2Fx-5/2Fx2/b+1/2qx3/b 1-2x/b+x2/b2

1/24Fb2/EJ 1/3Xb/EJ
ED b x/b Fb-Fx-1/2qx2 Fx-Fx2/b-1/2qx3/b x2/b2

EF √2b 0 √2/2Fx 0 0 0 0

FG b 0 -Fx 0 0
0 0

GF b 0 Fb-Fx 0 0

GA b 0 0 0 0
0 0

AG b 0 0 0 0

FB b 0 Fb-Fx 0 0
0 0

BF b 0 -Fx 0 0

BE b 0 0 0 0
0 0

EB b 0 0 0 0

CD elongazione asta  N1CDεCDLCD -Fb2/EJ

totali -11/24Fb2/EJ 5/3Xb/EJ

iperstatica X=WCD 11/40Fb
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Sviluppi di calcolo iperstatica
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(3 x/b -2 x2/b2 ) Fb 1/EJ dx = [3/2 x2/b -2/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = (3/2 b -2/3 b ) Fb 1/EJ  = 5/6  Fb2/EJ

LXo
CB = ∫

o

b(1 + x/b -2 x2/b2 ) Fb 1/EJ dx = [ x +1/2 x2/b -2/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b +1/2 b -2/3 b ) Fb 1/EJ  = 5/6  Fb2/EJ

LXo
CD = ∫

o

b(- x/b +1/2 x2/b2 ) Fb 1/EJ dx + 1   (-1)  1  Fb2/EJ

        = [-1/2 x2/b +1/6 x3/b2 ]
o

b
 Fb 1/EJ  + 1   (-1)  1  Fb2/EJ

        = (-1/2 b +1/6 b ) Fb 1/EJ  + 1   (-1)  1  Fb2/EJ = -4/3  Fb2/EJ

LXo
DC = ∫

o

b(-1/2 +1/2 x2/b2 ) Fb 1/EJ dx + 1   (-1)  1  Fb2/EJ

        = [-1/2 x +1/6 x3/b2 ]
o

b
 Fb 1/EJ  + 1   (-1)  1  Fb2/EJ

        = (-1/2 b +1/6 b ) Fb 1/EJ  + 1   (-1)  1  Fb2/EJ = -4/3  Fb2/EJ

LXo
DE = ∫

o

b(-1/2 +5/2 x/b -5/2 x2/b2 +1/2 x3/b3 ) Fb 1/EJ dx

        = [-1/2 x +5/4 x2/b -5/6 x3/b2 +1/8 x4/b3 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +5/4 b -5/6 b +1/8 b ) Fb 1/EJ  = 1/24  Fb2/EJ

LXo
ED = ∫

o

b( x/b - x2/b2 -1/2 x3/b3 ) Fb 1/EJ dx = [1/2 x2/b -1/3 x3/b2 -1/8 x4/b3 ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/3 b -1/8 b ) Fb 1/EJ  = 1/24  Fb2/EJ
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(-5/2 x/b +3/2 x2/b2 ) Fb 1/EJ dx = [-5/4 x2/b +1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-5/4 b +1/2 b ) Fb 1/EJ  = -3/4  Fb2/EJ

LXo
CB = ∫

o

b(-1 -1/2 x/b +3/2 x2/b2 ) Fb 1/EJ dx = [- x -1/4 x2/b +1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (- b -1/4 b +1/2 b ) Fb 1/EJ  = -3/4  Fb2/EJ

LXo
DE = ∫

o

b(-3/2 x/b +3/2 x2/b2 ) Fb 1/EJ dx = [-3/4 x2/b +1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-3/4 b +1/2 b ) Fb 1/EJ  = -1/4  Fb2/EJ

LXo
ED = ∫

o

b(-3/2 x/b +3/2 x2/b2 ) Fb 1/EJ dx = [-3/4 x2/b +1/2 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-3/4 b +1/2 b ) Fb 1/EJ  = -1/4  Fb2/EJ
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(2 x/b - x2/b2 ) Fb 1/EJ dx = [ x2/b -1/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b -1/3 b ) Fb 1/EJ  = 2/3  Fb2/EJ

LXo
CB = ∫

o

b(1 - x2/b2 ) Fb 1/EJ dx = [ x -1/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b -1/3 b ) Fb 1/EJ  = 2/3  Fb2/EJ

LXo
CD = ∫

o

b(-1/2 x/b +1/2 x2/b2 ) Fb 1/EJ dx + 1   (-1)  1  Fb2/EJ

        = [-1/4 x2/b +1/6 x3/b2 ]
o

b
 Fb 1/EJ  + 1   (-1)  1  Fb2/EJ

        = (-1/4 b +1/6 b ) Fb 1/EJ  + 1   (-1)  1  Fb2/EJ = -13/12  Fb2/EJ

LXo
DC = ∫

o

b(-1/2 x/b +1/2 x2/b2 ) Fb 1/EJ dx + 1   (-1)  1  Fb2/EJ

        = [-1/4 x2/b +1/6 x3/b2 ]
o

b
 Fb 1/EJ  + 1   (-1)  1  Fb2/EJ

        = (-1/4 b +1/6 b ) Fb 1/EJ  + 1   (-1)  1  Fb2/EJ = -13/12  Fb2/EJ

LXo
DE = ∫

o

b( x/b - x2/b2 ) Fb 1/EJ dx = [1/2 x2/b -1/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/3 b ) Fb 1/EJ  = 1/6  Fb2/EJ

LXo
ED = ∫

o

b( x/b - x2/b2 ) Fb 1/EJ dx = [1/2 x2/b -1/3 x3/b2 ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/3 b ) Fb 1/EJ  = 1/6  Fb2/EJ
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(3/2 x/b -1/2 x2/b2 ) Fb 1/EJ dx = [3/4 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (3/4 b -1/6 b ) Fb 1/EJ  = 7/12  Fb2/EJ

LXo
CB = ∫

o

b(1 -1/2 x/b -1/2 x2/b2 ) Fb 1/EJ dx = [ x -1/4 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b -1/4 b -1/6 b ) Fb 1/EJ  = 7/12  Fb2/EJ

LXo
CD = ∫

o

b(1/2 x/b ) Fb 1/EJ dx = [1/4 x2/b ]
o

b
 Fb 1/EJ 

        = (1/4 b ) Fb 1/EJ  = 1/4  Fb2/EJ

LXo
DC = ∫

o

b(1/2 -1/2 x/b ) Fb 1/EJ dx = [1/2 x -1/4 x2/b ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/4 b ) Fb 1/EJ  = 1/4  Fb2/EJ

LXo
DE = ∫

o

b(1/2 -1/2 x2/b2 ) Fb 1/EJ dx = [1/2 x -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/6 b ) Fb 1/EJ  = 1/3  Fb2/EJ

LXo
ED = ∫

o

b( x/b -1/2 x2/b2 ) Fb 1/EJ dx = [1/2 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (1/2 b -1/6 b ) Fb 1/EJ  = 1/3  Fb2/EJ
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LXX
BC = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CD = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DC = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
ED = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXo
BC = ∫

o

b(3/2 x/b ) Fb2 1/EJ dx = [3/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (3/4 b ) Fb2 1/EJ  = 3/4  Fb3/EJ

LXo
CB = ∫

o

b(3/2 -3/2 x/b ) Fb2 1/EJ dx = [3/2 x -3/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (3/2 b -3/4 b ) Fb2 1/EJ  = 3/4  Fb3/EJ

LXo
CD = ∫

o

b(1/2 ) Fb2 1/EJ dx = [1/2 x ]
o

b
 Fb2 1/EJ 

        = (1/2 b ) Fb2 1/EJ  = 1/2  Fb3/EJ

LXo
DC = ∫

o

b(1/2 ) Fb2 1/EJ dx = [1/2 x ]
o

b
 Fb2 1/EJ 

        = (1/2 b ) Fb2 1/EJ  = 1/2  Fb3/EJ

LXo
DE = ∫

o

b(1/2 -1/2 x/b ) Fb2 1/EJ dx = [1/2 x -1/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (1/2 b -1/4 b ) Fb2 1/EJ  = 1/4  Fb3/EJ

LXo
ED = ∫

o

b(1/2 x/b ) Fb2 1/EJ dx = [1/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (1/4 b ) Fb2 1/EJ  = 1/4  Fb3/EJ
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LXX
BC = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
CD = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DC = ∫

o

b(1 ) b2 1/EJ dx = [ x ]
o

b
 b2 1/EJ 

        = ( b ) b2 1/EJ  =   b3/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 ) b2 1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = ( b - b +1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXX
ED = ∫

o

b( x2/b2 ) b2 1/EJ dx = [1/3 x3/b2 ]
o

b
 b2 1/EJ 

        = (1/3 b ) b2 1/EJ  = 1/3  b3/EJ

LXo
BC = ∫

o

b(-3/2 x/b ) Fb2 1/EJ dx = [-3/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (-3/4 b ) Fb2 1/EJ  = -3/4  Fb3/EJ

LXo
CB = ∫

o

b(-3/2 +3/2 x/b ) Fb2 1/EJ dx = [-3/2 x +3/4 x2/b ]
o

b
 Fb2 1/EJ 

        = (-3/2 b +3/4 b ) Fb2 1/EJ  = -3/4  Fb3/EJ

LXo
CD = ∫

o

b(-1/2 + x/b -1/2 x2/b2 ) Fb2 1/EJ dx = [-1/2 x +1/2 x2/b -1/6 x3/b2 ]
o

b
 Fb2 1/EJ 

        = (-1/2 b +1/2 b -1/6 b ) Fb2 1/EJ  = -1/6  Fb3/EJ

LXo
DC = ∫

o

b(-1/2 x2/b2 ) Fb2 1/EJ dx = [-1/6 x3/b2 ]
o

b
 Fb2 1/EJ 

        = (-1/6 b ) Fb2 1/EJ  = -1/6  Fb3/EJ
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(-3/2 x/b ) Fb 1/EJ dx = [-3/4 x2/b ]
o

b
 Fb 1/EJ 

        = (-3/4 b ) Fb 1/EJ  = -3/4  Fb2/EJ

LXo
CB = ∫

o

b(-3/2 +3/2 x/b ) Fb 1/EJ dx = [-3/2 x +3/4 x2/b ]
o

b
 Fb 1/EJ 

        = (-3/2 b +3/4 b ) Fb 1/EJ  = -3/4  Fb2/EJ

LXo
CD = ∫

o

b(-1/2 + x/b -1/2 x2/b2 ) Fb 1/EJ dx - 1   (-1)  1  Fb2/EJ

        = [-1/2 x +1/2 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ  - 1   (-1)  1  Fb2/EJ

        = (-1/2 b +1/2 b -1/6 b ) Fb 1/EJ  - 1   (-1)  1  Fb2/EJ = 5/6  Fb2/EJ

LXo
DC = ∫

o

b(-1/2 x2/b2 ) Fb 1/EJ dx - 1   (-1)  1  Fb2/EJ = [-1/6 x3/b2 ]
o

b
 Fb 1/EJ  - 1   (-1)  1  Fb2/EJ

        = (-1/6 b ) Fb 1/EJ  - 1   (-1)  1  Fb2/EJ = 5/6  Fb2/EJ
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LXX
BC = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CB = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
CD = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DC = ∫

o

b(1 )  1/EJ dx = [ x ]
o

b
  1/EJ 

        = ( b )  1/EJ  =   b/EJ

LXX
DE = ∫

o

b(1 -2 x/b + x2/b2 )  1/EJ dx = [ x - x2/b +1/3 x3/b2 ]
o

b
  1/EJ 

        = ( b - b +1/3 b )  1/EJ  = 1/3  b/EJ

LXX
ED = ∫

o

b( x2/b2 )  1/EJ dx = [1/3 x3/b2 ]
o

b
  1/EJ 

        = (1/3 b )  1/EJ  = 1/3  b/EJ

LXo
BC = ∫

o

b(3/2 x/b -1/2 x2/b2 ) Fb 1/EJ dx = [3/4 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (3/4 b -1/6 b ) Fb 1/EJ  = 7/12  Fb2/EJ

LXo
CB = ∫

o

b(1 -1/2 x/b -1/2 x2/b2 ) Fb 1/EJ dx = [ x -1/4 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = ( b -1/4 b -1/6 b ) Fb 1/EJ  = 7/12  Fb2/EJ

LXo
CD = ∫

o

b(- x/b +1/2 x2/b2 ) Fb 1/EJ dx = [-1/2 x2/b +1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +1/6 b ) Fb 1/EJ  = -1/3  Fb2/EJ

LXo
DC = ∫

o

b(-1/2 +1/2 x2/b2 ) Fb 1/EJ dx = [-1/2 x +1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +1/6 b ) Fb 1/EJ  = -1/3  Fb2/EJ

LXo
DE = ∫

o

b(-1/2 + x/b -1/2 x2/b2 ) Fb 1/EJ dx = [-1/2 x +1/2 x2/b -1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/2 b +1/2 b -1/6 b ) Fb 1/EJ  = -1/6  Fb2/EJ

LXo
ED = ∫

o

b(-1/2 x2/b2 ) Fb 1/EJ dx = [-1/6 x3/b2 ]
o

b
 Fb 1/EJ 

        = (-1/6 b ) Fb 1/EJ  = -1/6  Fb2/EJ
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